
RECODE	
  RFQ1	
  RFQ3	
  RFQ4	
  RFQ6	
  RFQ7	
  RFQ8	
  (1=3)	
  (2=2)	
  (3=1)	
  (4=0)	
  (5=0)	
  
(6=0)	
  (7=0)	
  	
  
INTO	
  RFQc1	
  RFQc3	
  RFQc4	
  RFQc6	
  RFQc7	
  RFQc8.	
  
EXECUTE.	
  
	
  
RECODE	
  RFQ3	
  RFQ5	
  RFQ6	
  RFQ7	
  RFQ8	
  (1=0)	
  (2=0)	
  (3=0)	
  (4=0)	
  (5=1)	
  (6=2)	
  
(7=3)	
  	
  
INTO	
  RFQu3	
  RFQu5	
  RFQu6	
  RFQu7	
  RFQu8.	
  
EXECUTE.	
  
	
  
RECODE	
  RFQ2	
  (1=3)	
  (2=2)	
  (3=1)	
  (4=0)	
  (5=0)	
  (6=0)	
  (7=0)	
  INTO	
  RFQu2.	
  
EXECUTE.	
  
	
  
********RFQ_c	
  6items	
  *************	
  
	
  
**	
  c1	
  	
  Les	
  pensées	
  des	
  gens	
  sont	
  un	
  mystère	
  pour	
  moi	
  
**	
  c3	
  Je	
  ne	
  sais	
  pas	
  toujours	
  pourquoi	
  je	
  fais	
  ce	
  que	
  je	
  fais	
  
**	
  c4	
  Quand	
  je	
  me	
  fâche,	
  je	
  dis	
  des	
  choses	
  sans	
  vraiment	
  savoir	
  pourquoi	
  je	
  les	
  
dis.	
  	
  
**	
  c6	
  Quand	
  je	
  me	
  fâche,	
  je	
  dis	
  des	
  choses	
  que	
  je	
  regrette	
  plus	
  tard.	
  	
  
**	
  c7	
  Si	
  je	
  manque	
  d'assurance,	
  je	
  peux	
  me	
  comporter	
  d'une	
  manière	
  qui	
  monte	
  
les	
  autres	
  contre	
  moi.	
  	
  
**	
  c8	
  Parfois,	
  je	
  fais	
  des	
  choses	
  sans	
  vraiment	
  savoir	
  pourquoi.	
  	
  
	
  	
  
	
  
	
  
COMPUTE	
  RFQ_c=	
  mean	
  (RFQc1,RFQc3,RFQc4,RFQc6,RFQc7,RFQc8).	
  
EXECUTE.	
  
	
  
********RFQ_u	
  6	
  items	
  *************	
  
	
  
**	
  u2	
  Je	
  sais	
  toujours	
  ce	
  que	
  je	
  ressens.	
  	
  
**	
  u3	
  Je	
  ne	
  sais	
  pas	
  toujours	
  pourquoi	
  je	
  fais	
  ce	
  que	
  je	
  fais	
  
**	
  u5	
  Les	
  sentiments	
  intenses	
  brouillent	
  souvent	
  ma	
  pensée.	
  
**	
  u6	
  Quand	
  je	
  me	
  fâche,	
  je	
  dis	
  des	
  choses	
  que	
  je	
  regrette	
  plus	
  tard.	
  	
  
**	
  u7	
  Si	
  je	
  manque	
  d'assurance,	
  je	
  peux	
  me	
  comporter	
  d'une	
  manière	
  qui	
  monte	
  
les	
  autres	
  contre	
  moi.	
  	
  
**	
  u8	
  Parfois,	
  je	
  fais	
  des	
  choses	
  sans	
  vraiment	
  savoir	
  pourquoi.	
  
	
  
	
  
COMPUTE	
  RFQ_u=	
  mean	
  (RFQu2,RFQu3,RFQu5,RFQu6,RFQu7,LRFu8).	
  
EXECUTE.	
  
	
  
	
  
	
  
	
  


